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Introduction to WritePlacer ®
 

 
Prompts within the ACCUPLACER® System have been carefully designed so that the student can 
respond quickly and in a variety of ways. Prompts are free of technical or specific literary references 
and do not require specialized knowledge. The prompts are designed to stimulate critical thinking and 
are relevant to any number of fields and interests. Students will be asked to draw on a broad range of 
experiences, learning and ideas to support their point of view on the issue in question. 
 
Scores on WritePlacer range from 1 to 8. An essay that is too short to be evaluated, written on a topic 
other than the one presented, or written in a language other than English will be given a score of zero. 
 
A prompt consists of a short passage adapted from some authentic text. Following the passage is an 
assignment that requires the student to focus on the issue addressed in the passage. 
 
 

Instructions to Students  

 
The essay gives you an opportunity to show how effectively you can develop and express your ideas in 
writing. You will first read a short passage and an assignment question that are focused on an 
important issue. You will then write an essay in which you develop your own point of view on the 
issue. You should support your position with appropriate reasoning and examples. The position you 
take will not influence your score. 
 
Your essay will be given a holistic score that represents how clearly and effectively you expressed 
your position. The following six characteristics of writing will be considered: 
 

�x Purpose and Focus  – The extent to which you present information in a unified and 
coherent manner, clearly addressing the issue. 

�x Organization and Structure  – The extent to which you order and connect ideas. 

�x Development and Support  – The extent to which you develop and support ideas. 

�x Sentence Variety and Style  – The extent to which you craft sentences and paragraphs 
demonstrating control of vocabulary, voice and structure. 

�x Mechanical Conventions  – The extent to which you express ideas using Standard 
Written English. 

�x Critical Thinking  – The extent to which you communicate a point of view and 
demonstrate reasoned relationships among ideas. 
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Sample Prompt 
  
 
Passage 
 
An actor, when his cue came, was unable to move onto the stage. He said, “I can’t get in, the chair is 
in the way.” And the producer said, “Use the difficulty. If it’s a drama, pick the chair up and smash it. 
If it’s comedy, fall over it.” From this experience the actor concluded that in any situation in life that 
is negative, there is something positive you can do with it. 
 
Adapted from Lawrence Eisenberg, “Caine Scrutiny.” 
 
 
Assignment  
 
Can any obstacle or disadvantage be turned into something good? 
 
 
 
 

Sample Essays  

 
On the pages that follow there are descriptions of each of the eight WritePlacer score points followed 
by two sample essays that were assigned the indicated score. Annotations are provided for each essay 
explaining why the essay was given the score it received. Studying these sample essays and the 
accompanying annotations will point out the elements considered during the scoring process. 
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SCORE of 1 

 
Description of Score of 1 
 
A response in this category demonstrates no mastery of on-demand essay writing; the response is 
severely flawed by many or most of the following weaknesses: 
 

• Lacks a viable point of view on the issue 
• Demonstrates no awareness of audience 
• Fails to present a main idea 
• Demonstrates flawed reasoning 
• Demonstrates no complexity of thought 
• Is disorganized and/or disjointed 
• Displays fundamental errors in word choice, usage and sentence structure 
• Contains pervasive spelling, grammar, punctuation and mechanical errors 

 
Shown below are sample essays that received a score of 1. The annotations explain why the essay 
received the indicated score. 
 
 

Sample��Essay��#1��–��Score��of��1��
��
The��question��is��can��any��obstacle��or��disadvantage��be��turned��into��something��good?��Yes��it��can,��because��
even��in��the��story��he��couldn’t��get��in��because��of��the��chair��and��the��guy��tells��him��if��it’s��a��drama,��“Smash��it��
and��if��it’s��a��comedy��fall��over��it.��But��when��you��think��about��it,��if��a��girl��was��guilty��and��was��pleading��to��
say��on��how��she��was��inocent��and��they��catch��her��in��a��lie��its��practically��the��same��thing.��But��that’s��not��
the��point��but��you��can��change��a��negative��into��a��positive��someway.��
��

_________________����Annotations����_________________��
��
This��essay��lacks��a��viable,��coherent��point��of��view��on��the��issue.��The��writer��attempts��to��explain��that��“you��
can��change��a��negative��into��a��positive,”��but��the��ideas��provided��are��minimal��and��disorganized,��resulting��
in��a��disjointed��and,��at��times,��incoherent��essay��(Yes��it��can....But��when��you��think��about��it,��if��a��girl��was��
guilty��and��was��pleading��to��say��on��how��she��was��inocent��and��they��catch��her��in��a��lie��its��practically��the��
same��thing).��The��response��demonstrates��flawed��reasoning,��no��complexity��of��thought��and��displays��
fundamental��errors��in��sentence��structure��(But��that’s��not��the��point��but��you��can��change...).��
Demonstrating��no��mastery,��this��essay��receives��a��score��of��1.��
��
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Sample��Essay��#2��–��Score��of��1��
��
Yes,��obstacles��and��disadvantages��can��be��turned��into��something��good��because��you��will��know��how��to��
over��come��obstacles��and��disadvantages��in��the��future.��You��can��help��other��people��with��obstacles��and��
disadvantages��because��you��have��been��in��the��situation,��that��needs��help.��You��also��can��learn��from��them��
it��can��also��help��you��in��life��and��with��your��sucess.��
��

_________________����Annotations����_________________��
��
This��essay��attempts��to��present��a��point��of��view��(Yes,��obstacles��and��disadvantages��can��be��turned��into��
something��good)��but��fails��to��develop��any��of��its��ideas.��The��absence��of��support��results��in��a��disjointed��
essay��that��demonstrates��no��complexity��of��thought��(You��can��help��other��people��with��obstacles��and��
disadvantages��because��you��have��been��in��the��situation,��that��needs��help).��The��response��also��contains��
fundamental��errors��in�� ��
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SCORE of 2 

 
Description of Score of 2 
 
A response in this category demonstrates very little mastery 
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Sample��Essay��#2��–��Score��of��2��
��
This��sentencis��very��good��and��right��because��you��must��belive��thet��have��a��good��and��positive,��something��
also��in��a��bed��situation.��I��you��think��so,��you��succeed��in��your��life.��also��in��a��bad��situation,��you��must��think��
a��good��and��be��a��good.��
��
I��have��3,��examples��from��my ��
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SCORE of 4 
 
Description of Score of 4 
 
An essay in this category demonstrates developing mastery of on-demand essay writing. A typical 
essay 
 

• Develops a viable point of view on the issue 
• May stray from audience and purpose 
• Demonstrates some critical thinking but may do so inconsistently or use inadequate examples, 

reasons, or other evidence to support its position 
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Continued��from��previous��page��
��

_________________����Annotations����_________________��
��
This��essay��demonstrates��competent��critical��thinking,��providing��adequate��reasons��and��examples��to��
support��the��claim��that��“an��obstacle��or��disadvantage��can��be��turned��into��a��good��thing.”��Although��the��
response��offers��a��variety��of��adequate��supporting��examples,��it��demonstrates��an��occasional��lack��of��
progression��of��ideas��as��it��jumps��from��one��idea��to��the��next��(.��.��.��if��a��person��gets��a��serious��burn��.��.��.��.��If��
someone��is��on��crutches��.��.��.��.��The��best��comedians��always��turn��an��obstacle��or��disadvantage��into��a��good��
thing).��The��essay��demonstrates��adequate��but��inconsistent��control��of��language��and��features��some��
minor��errors��(If��the��audiance��is��not��laughing��.��.��.��.��This��obstacle��about��the��audience��not��laughing��he��
could��make��a��joke��about,��then��making��the��obstacle��into��a��good��thing).��Demonstrating��adequate��
mastery,��this��essay��receives��a��score��of��5.��
��

 

Sample��Essay��#2��–��Score��of��5��
��
Life��constantly��harrasses��modern��society��with��a��variety��of��problems��and��obstacles.��But,��negatives��
never��come��out��without��its��positives.��Events��such��as��the��Civil��War��and��messages��that��stem��from��
Romeo��and��Juliet’s��tragic��ending��include��something��good��even��though��they��show��obstacles��of��life.��
Therefore,��society��can��gain��good��things��through��bad��things.��
��
The��Civil��War��broke��out��in��1861��and��left��a��terrible��tear��on��American��culture.��Even��after��horrible��
battles��like��in��Gettysburg, ��out

��� in��18612s.life. out



 



 

© 2008 The College Board. All rights reserved. 
14 

Continued��from��previous��page��
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SCORE of 7 

 
Description of Score of 7 
 
An essay in this category demonstrates consistent mastery of on-demand essay writing, although it 
may have occasional minor errors. A typical essay 
 

• Effectively and insightfully develops a point of view on the issue 
• Addresses an appropriate audience and demonstrates a clear purpose for writing in the thesis 

statement 
• Demonstrates outstanding critical thinking, us
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Continued��from��previous��page��
��
From��these��two��examples,��we��can��clearly��see��that��obstacles��or��disadvantages��can��become��something��
good.��Both��Louis��and��Lance��overcame��extremely��difficult��obstacles��and��became��some��of��the��best��
there��ever��was.��They��knew��that��anything��was��possible��and��were��not��discouraged��by��hardships.��
��

_________________����Annotations����_________________��
��
This��essay��demonstrates��outstanding��critical��thinking,��effectively��and��insightfully��developing��the��point��
of��view��that��“an��obstacle��or��disadvantage��can��be��turned��into��something��good”��with��two��appropriate��
supporting��examples.��Well��organized��and��focused,��the��essay��displays��clear��coherence��and��a��smooth��
progression��of��ideas��as��it��explains��how��the��Armstrongs,��Lance��and��Louis,��“overcame��extremely��
difficult��obstacles��and��became��some��of��the��best��there��ever��was”��(Louis��was��born��to��a��single��mother.��
They��were��poverty��stricken��.��.��.��.��He��formed��a��jazz��group��when��he��was��released��from��prison��.��.��.��.��On��
one��fateful��day,��a��record��company��representative��heard��the��group��and��immediately��wanted��to��sign��
them).��The��essay��displays��appropriate��language,��using��a��varied��and��accurate��vocabulary,��and��varied��
sentence��structure��appears��throughout��(Within��a��year,��Lance��was��back��on��the��bike.��He��went��on��to��win��
seven��Tour��de��Frances��in��a��row��and��he��remains��one��of��the��greatest��cyclists,��if��not��the��greatest��cyclist��
of��all��time).��Demonstrating��consistent��mastery,��this��response��merits��a��score��of��7.��
��

 
 

Sample��Essay��#2��–��Score��of��7��
��
It��is��true��that��any��obstacle��or��disadvantage��can��be��turned��into��something��positrcan ��pI �� ��
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Continued��from��previous��page��
��
The��events��that��unfolded��on��the��path��to
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SCORE of 8 
 
Description of Score of 8 
 
An essay in this category demonstrates clear and consistent mastery of on-demand essay writing with 
a few minor errors. A typical essay 
 

• Effectively and insightfully develops a point of view on the issue 
• Addresses an appropriate audience and demonstrates a clear purpose for writing in the thesis 

statement 
• Demonstrates outstanding critical thinking, using effective examples, reasons, and other 

evidence to support its position 
• Is well organized and clearly focused, demonstrating clear coherence and smooth progression 

of ideas 
• Exhibits skillful use of language, using a varied, accurate, and apt vocabulary 
• Demonstrates varied and effective sentence structure 
• Is free of major errors in grammar, spelling and punctuation 

 
Shown below are sample essays that received a score of 8. The annotations explain why the essay 
received the indicated score. 
 
 

Sample��Essay��#1��–��Score��of��8��
��
An��obstacle��or��disadvantage��may��appear��to��be��a��setback,��though��either��has��the��ability��to��be��turned��
into��something��good.��For��instanceTT14 1 Tf
1.72 0.72 re
f
51.42 42 374.22 0.72 14.64 rTf
0.225 0 14 1 Tf
4.305 0 TD
0 Tc
<0003>Tj
/TT15 1 Tf
0.225 0 TD
-0.0019 Tc
[(good)-6.5(.)]Tstback,��bD
0nepe5(.)]TJnFor
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Continued��from��previous��page��
��
The��Dean��of��Student��at��my��school,��was��an��English��teacher,��a��track��coach,��and��the��Dean��of��Students��
before��the��roof��of��his��barn��collapsed��on��him��a��few��years��ago.��He��had��always��been��a��strong��man��who��
genuinely��cared��for��his��students.��Who��respected��and��loved��him.��After��his��accident,��he��lost��the��use��of��
his��legs��and��feet��and��his��life��drastically��changed.��He��had��become��unable��to��care��for��himself��and��lost��
great�ramounts��of��self��esteem.��He��ultimately��decided��he��had��to��get��his��life��back��so��he��learned��how��to��
live��independently��through��physical��training��courses,��he��learned��to��drive��a��car,��and��he��returned��to��
school.��His��experience��which��could��have��destroyed��him��and��the��goals��he��had��actually��allowed��for��him��
to��build��strength��he��never��knew��he��had.��Through��his��actions��he��made��a��severe��disadvantage��into��a��
very��positive��life��change.��
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Continued��from��previous��page��
��
Although��these��changes��are��superficial,��Heathcliff,��used��the��adversity��facing��him��as��a��boy��as��
motivation��to��improve��himself,��to��marry��Catherine;��thus��his��early��obstacles��were��turned��into��
something��good��(at��least��for��him).��From��Emily��Bronte’s��Wuthering��Heights,��it��is��evident��that��obstacles��
can��be��transformed��into��motivation,��a��very��positive��emotion.��
��
In��the��1770’s,��America��was��under��the��rule��of��a��tyrant��in��England.��Legislation,��such��as��those��that��were��
called��the��“Intolerable��Acts”��that��forbid��such��practices��as��forming��a��militia��in��Massachusetts,��and��the��
infamous��“Stamp��Act”,��which��was��essentially��a��tax��forced��on��Americans��to��gain��revenue��for��the��
British��Empire,��were��passed��continuously��against��Great��Britain’s��colonies��in��America.��The��Qu3Tc
<0003>Tj
/TT15 E5 2 14.7 r r r r r r r r r 
/TT14 1 Tf
3.2in’s4.88 TD
-0.0013 Tc
(for)Tj
/TT14 1 Tf
1.18 0 TD
0 Tc
<0003>Tj
/TT15 1 Tf
0teTf
0.225 0 TD
0.0008 Tce.0.18 507.4 os5 1 Tf
0.TT15 1 Tf
0.225 0 TD
-0.0002 Tc
(the)Tj
/TT14 .225 0 To8 Tce.0.18 507
4.275 0 TD
0 Tc003>Tj
/TT15 1 Tf
hi1 0 TD
0 Tc
<0003>Tj
/TT15 1 Tf
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0.0057.54j
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/TT15 1 Tf
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-18Tj
/TT14
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<0003>Tj
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0.225 0 TD
0.00001 Tc
soldierT14 1 Tf
3.61 0 TDTf
2.805 0 TD
0 Tc
<0003>Tj
/TT15 1 Tf
0.2254 1 Tf
3.35 0 TD
0 Tc
<0003>Tj
/TT15 1 Tf
0.225 0 TD
-0.0013 Tc3Tj
/
/liv0087(e4 1 Tf
1.05 0 TD
04D
0 Tc
<0003>Tj
/TT15 1 Tf
0.225 0 TD
0.0005 Tc
[The)Tj
/TT14 1 Tf
1.51 0 TD
0 Tc
<0003>Tj
/TT15 1 Tf
0.225 0 TD
0.0007 Tc
[6
0.852 gi14.64 re
f
561.3 59f
2.805 0 TD
0 Tc
<0003>Tj
/TT15 1 Tf
0.225 0 TD
f
0.85homes1 Tf
1.585 0 TD
0 99j
/TT15 1 Tf
0.225 0 TD
(a)Tj
/TT14 1 Tf
0.48 0 TD
<00 1 Tf
4.26 0 TD
<0003>Tj
/TT15 1 Tf
0.225 0 TD
(a)Tj
/TT14 1 Tf
0.48 1heans��



�1�(�;�7�ë�*�(�1�(�5�$�7�,�2�1 

Reading 
Sample Questions 



ACCUPLACER���1�H�[�W���*�H�Q�H�U�D�W�L�R�Q���5�H�D�G�L�Q�J  �†�������������7�K�H���&�R�O�O�H�J�H���%�R�D�U�G����1 

��
��

��
��

��
��

��
��

��

��
��

��
��

��
��

��
��

��
��

��

��

��

��

The College Board 
�7�K�H���&�R�O�O�H�J�H���%�R�D�U�G���L�V���D���P�L�V�V�L�R�Q���G�U�L�Y�H�Q���Q�R�W���I�R�U���S�U�R�®�W���R�U�J�D�Q�L�]�D�W�L�R�Q���W�K�D�W���F�R�Q�Q�H�F�W�V���V�W�X�G�H�Q�W�V
�W�R���F�R�O�O�H�J�H���V�X�F�F�H�V�V���D�Q�G���R�S�S�R�U�W�X�Q�L�W�\�����)�R�X�Q�G�H�G���L�Q���������������W�K�H���&�R�O�O�H�J�H���%�R�D�U�G���Z�D�V���F�U�H�D�W�H�G���W�R
�H�[�S�D�Q�G���D�F�F�H�V�V���W�R���K�L�J�K�H�U���H�G�X�F�D�W�L�R�Q�����7�R�G�D�\�����W�K�H���P�H�P�E�H�U�V�K�L�S���D�V�V�R�F�L�D�W�L�R�Q���L�V���P�D�G�H���X�S���R�I
�R�Y�H�U���������������R�I���W�K�H���Z�R�U�O�G�o�V���O�H�D�G�L�Q�J���H�G�X�F�D�W�L�R�Q���L�Q�V�W�L�W�X�W�L�R�Q�V���D�Q�G���L�V���G�H�G�L�F�D�W�H�G���W�R���S�U�R�P�R�W�L�Q�J
�H�[�F�H�O�O�H�Q�F�H���D�Q�G���H�T�X�L�W�\���L�Q���H�G�X�F�D�W�L�R�Q�����(�D�F�K���\�H�D�U�����W�K�H���&�R�O�O�H�J�H���%�R�D�U�G���K�H�O�S�V���P�R�U�H���W�K�D�Q���V�H�Y�H�Q
�P�L�O�O�L�R�Q���V�W�X�G�H�Q�W�V���S�U�H�S�D�U�H���I�R�U���D���V�X�F�F�H�V�V�I�X�O���W�U�D�Q�V�L�W�L�R�Q���W�R���F�R�O�O�H�J�H���W�K�U�R�X�J�K���S�U�R�J�U�D�P�V���D�Q�G
�V�H�U�Y�L�F�H�V���L�Q���F�R�O�O�H�J�H���U�H�D�G�L�Q�H�V�V���D�Q�G���F�R�O�O�H�J�H���V�X�F�F�H�V�V�t�L�Q�F�O�X�G�L�Q�J���W�K�H���6�$�7�‹���D�Q�G���W�K�H���$�G�Y�D�Q�F�H�G
�3�O�D�F�H�P�H�Q�W���3�U�R�J�U�D�P�‹�����7�K�H���R�U�J�D�Q�L�]�D�W�L�R�Q���D�O�V�R���V�H�U�Y�H�V���W�K�H���H�G�X�F�D�W�L�R�Q���F�R�P�P�X�Q�L�W�\���W�K�U�R�X�J�K
�U�H�V�H�D�U�F�K���D�Q�G���D�G�Y�R�F�D�F�\���R�Q���E�H�K�D�O�I���R�I���V�W�X�G�H�Q�W�V�����H�G�X�F�D�W�R�U�V�����D�Q�G���V�F�K�R�R�O�V��

�)�R�U���I�X�U�W�K�H�U���L�Q�I�R�U�P�D�W�L�R�Q�����Y�L�V�L�W��



ACCUPLACER���1�H�[�W���*�H�Q�H�U�D�W�L�R�Q���5�H�D�G�L�Q�J  �†�������������7�K�H���&�R�O�O�H�J�H���%�R�D�U�G����2 

 

  

 
 
 
 

 

 

 

 

 

  

 
 

 
 

 

 

 

 

 

Sample Questions 
(11) And now tonight, with twenty-four hours to  
go, they had somehow managed to bring it o�.  Directions for questions 1-18 

(12) Giddy in the unfamiliar feel of make-up and  
costumes on this �rst warm evening of the year, they  
had forgotten to be afraid: they had let the movement  
of the play come and carry them and break like a  
wave; and maybe it sounded corny (and what if it  
did?) but they had all put their hearts into their work.  

Read the passage(s) below and answer the question 
based on what is stated or implied in the passage(s) and 
in any introductory material that may be provided. 

(13) Could anyone ever ask for more than that? 

From Richard Yates, Revolutionary Road. ©1989 by Richard 
Yates. Originally published in 1961. 

1. �e contrasCID 138 w
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Passage 1 

Green Bank, West Virginia, is a tech-savvy teenager’s 
nightmare. In this tiny town in Pocahontas County— 
population 143—wireless signals are illegal. No 
cell phones. No WiFi. No radio. No Bluetooth. No 
electronic transmitters at all. You’re not even allowed 
to cozy up to an electric blanket. 

�e remote town is smack in the center of the 
National Radio Quiet Zone, a 13,000 square 
mile stretch of land designated by the Federal 
Communications Commission to protect two 
government radio telescopes from human-made 
interference. �e rules are most strict in Green 
Bank. So strict that a police o�cer roves the streets 
listening for forbidden wireless signals. 

It’s necessary, though. �e town is home to the 
Green Bank Telescope, the largest steerable radio 
telescope in the world—and arguably our most 
powerful link to the cosmos. Scientists there listen 
to radio energy that has journeyed light years, 
unlocking secrets about how the stars and galaxies 
formed. A rogue radio signal could prevent 
potential discoveries, discoveries that could answer 
big questions about how the universe ticks. 

Adapted from Lucas Reilly, “�e West Virginia Town Where 
Wireless Signals Are Illegal.” ©2013 by Mental Floss, Inc. 

Passage 2 



ACCUPLACER���1�H�[�W���*�H�Q�H�U�D�W�L�R�Q���5�H�D�G�L�Q�J  �†�������������7�K�H���&�R�O�O�H�J�H���%�R�D�U�G����

 
 
 

 
 

 
 

 
 
 
 

 
 

 
 
 

 

 

 
 
 
 

 
 

 
 

 
 

 
 

 
 

 
 
 

 
 

 
 

 
 

 
 

  
 

 

  

  

 

 

 
 

   

 
 
 
 



ACCUPLACER���1�H�[�W���*�H�Q�H�U�D�W�L�R�Q���5�H�D�G�L�Q�J  �†�������������7�K�H���&�R�O�O�H�J�H���%�R�D�U�G����

 

 

 
 

 

 
 
 
 

 

 

 

 
  

 

 

 

 
 
 

 
 
 

 
 

 
 

 

 
 
 
 

�e �rst album that singer Leehom Wang bought 
as an adolescent was the Beastie Boys’ Licensed 
to Ill; his �rst concert was Heart, at the War 
Memorial in Rochester, New York. As for Chinese 
pop music, though, Wang says he recalls hearing it 
only once as a youngster—when his singer uncle, 
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Directions for questions 19-20 
Sherry Turkle of the Massachusetts Institute 
of Technology has been writing about human-
technology interactions for the past three 
decades. She has become increasingly wary of 
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9. Choice C is the best answer. �7�K�H���Q�D�U�U�D�W�R�U���X�V�H�V���D�O�O���R�I���W�K�H���O�L�V�W�H�G���Z�R�U�G�V���D�Q�G���S�K�U�D�V�H�V���W�R
�F�R�Q�Y�H�\���W�K�H���L�U�U�H�J�X�O�D�U�L�W�\���R�I���G�R�Z�Q�W�R�Z�Q���0�D�Q�K�D�W�W�D�Q�����L�W�V���V�W�U�H�H�W�V���D�U�H���p�F�U�D�]�\���q���D�Q�G���W�K�H���O�D�Q�G���K�D�V
�p�D���F�H�U�W�D�L�Q���F�X�U�Y�H���W�R���L�W���D�W���W�K�H���E�R�W�W�R�P���R�I���W�K�H���L�V�O�D�Q�G�����O�L�N�H���D���G�L�Q�R�V�D�X�U���K�H�D�G�����E�X�P�S�\���R�Q���W�K�H���U�L�J�K�W
�D�Q�G���V�W�U�D�L�J�K�W���R�Q���W�K�H���O�H�I�W�����D���V�Z�R�R�S�L�Q�J���P�D�M�H�V�W�L�F���E�R�W�W�R�P���q���&�K�R�L�F�H�V���$���D�Q�G���%���D�U�H���L�Q�F�R�U�U�H�F�W
�E�H�F�D�X�V�H���W�K�H���O�L�V�W�H�G���Z�R�U�G�V���D�Q�G���S�K�U�D�V�H�V���D�U�H���D�E�R�X�W���G�R�Z�Q�W�R�Z�Q���0�D�Q�K�D�W�W�D�Q�����Q�R�W���D�E�R�X�W���W�K�H
�Q�D�U�U�D�W�R�U�o�V���D�S�S�U�R�D�F�K���W�R���P�D�S�P�D�N�L�Q�J���R�U���D�W�W�L�W�X�G�H���W�R�Z�D�U�G���G�U�D�Z�L�Q�J�����&�K�R�L�F�H���'���L�V���L�Q�F�R�U�U�H�F�W
�E�H�F�D�X�V�H���W�K�H���S�D�V�V�D�J�H���G�R�H�V���Q�R�W���G�H�V�F�U�L�E�H���K�R�Z���D���O�D�Q�G�V�F�D�S�H���F�D�Q���F�K�D�Q�J�H�����H�Y�H�U�\�W�K�L�Q�J
�S�U�H�V�H�Q�W�H�G���L�Q���W�K�H���S�D�V�V�D�J�H���R�F�F�X�U�V���R�Y�H�U���D���U�H�O�D�W�L�Y�H�O�\���V�K�R�U�W���S�H�U�L�R�G���R�I���W�L�P�H�� 

10. Choice D is the best answer. �7�K�H���S�D�V�V�D�J�H���E�H�J�L�Q�V���E�\���O�L�V�W�L�Q�J���V�R�P�H���R�I���W�K�H���D�G�Y�D�Q�W�D�J�H�V
�:�K�D�U�W�R�Q���H�Q�M�R�\�H�G�����E�H�L�Q�J���E�R�U�Q���L�Q�W�R���p�R�Q�H���R�I���W�K�H���O�H�D�G�L�Q�J���I�D�P�L�O�L�H�V���R�I���1�H�Z���<�R�U�N���q
�P�D�L�Q�W�D�L�Q�L�Q�J���p�P�X�O�W�L�S�O�H���H�V�W�D�E�O�L�V�K�P�H�Q�W�V���q���W�U�D�Y�H�O�L�Q�J���p�L�Q���W�K�H���K�L�J�K�H�V�W���V�W�\�O�H�����Z�L�W�K���D���K�R�V�W���R�I
�V�H�U�Y�D�Q�W�V���q���K�D�Y�L�Q�J���p�V�H�Y�H�U�D�O���L�Q�K�H�U�L�W�D�Q�F�H�V���q���E�H�L�Q�J���W�K�H���D�X�W�K�R�U���R�I���p�E�H�V�W���V�H�O�O�L�Q�J���®�F�W�L�R�Q���q
�D�Q�G���H�D�U�Q�L�Q�J���������������������L�Q���D���'�H�S�U�H�V�V�L�R�Q���\�H�D�U�����7�K�H���S�D�V�V�D�J�H���F�R�Q�F�O�X�G�H�V���Z�L�W�K���D���O�L�V�W���R�I
�G�L�V�D�G�Y�D�Q�W�D�J�H�V���:�K�D�U�W�R�Q���O�D�E�R�U�H�G���X�Q�G�H�U�����Z�R�P�H�Q���L�Q���K�H�U���p�V�R�F�L�D�O���V�H�W�q���Z�H�U�H���H�[�S�H�F�W�H�G���W�R
�E�H���p�R�U�Q�D�P�H�Q�W�D�O�����Z�H�O�O���V�K�H�O�W�H�U�H�G�����L�Q�W�H�O�O�H�F�W�X�D�O�O�\���L�G�O�H���D�J�H�Q�W�V���R�I���W�K�H�L�U���L�Q�W�H�U�Z�R�Y�H�Q���F�O�D�Q�V���q
�D�Q�G���:�K�D�U�W�R�Q���Z�D�V���p�D�Z�N�Z�D�U�G���q���p�W�H�D�V�H�G�q���E�\���K�H�U���R�O�G�H�U���E�U�R�W�K�H�U�V�����D�Q�G���p�R�X�W���R�I���V�\�P�S�D�W�K�\
�Z�L�W�K���K�H�U���L�Q�W�H�Q�V�H�O�\���F�R�Q�Y�H�Q�W�L�R�Q�D�O���P�R�W�K�H�U���q���&�K�R�L�F�H���$���L�V���L�Q�F�R�U�U�H�F�W���E�H�F�D�X�V�H���W�K�H���S�D�V�V�D�J�H
�G�R�H�V���Q�R�W���I�R�O�O�R�Z���D���F�K�U�R�Q�R�O�R�J�L�F�D�O���V�W�U�X�F�W�X�U�H�����&�K�R�L�F�H���%���L�V���L�Q�F�R�U�U�H�F�W���E�H�F�D�X�V�H���W�K�H���S�D�V�V�D�J�H
�F�R�Q�Y�H�\�V���R�Q�O�\���R�Q�H���W�K�H�P�H���R�I���:�K�D�U�W�R�Q�o�V���Z�R�U�N�����p�P�R�W�K�H�U���G�D�X�J�K�W�H�U���G�L�V�K�D�U�P�R�Q�\�q�������&�K�R�L�F�H
�&���L�V���L�Q�F�R�U�U�H�F�W���E�H�F�D�X�V�H���W�K�H���S�D�V�V�D�J�H���I�R�F�X�V�H�V���R�Q���:�K�D�U�W�R�Q���H�[�F�O�X�V�L�Y�H�O�\�� 

11. Choice D is the best answer. �7�K�H���D�X�W�K�R�U���Q�R�W�H�V���W�K�D�W���W�K�H���Q�H�Z���G�L�Q�R�V�D�X�U���p�V�K�R�X�O�G���K�D�Y�H 
�E�H�H�Q���D���P�H�D�W���H�D�W�H�U�q���J�L�Y�H�Q���W�K�D�W���L�W���K�D�G���p�D�Q���D�Q�F�H�V�W�U�\���W�K�D�W���O�L�Q�N�V���L�W���W�R��Tyrannosaurus rex���q��
�Z�K�L�F�K�����W�K�H���D�X�W�K�R�U���L�P�S�O�L�H�V�����Z�D�V���L�W�V�H�O�I���D���P�H�D�W���H�D�W�H�U�����/�L�N�H���W�K�H��T. rex����C. diegosuarezi
�K�D�G���p�V�W�X�U�G�\���E�D�F�N���O�H�J�V���q���D���p�W�K�L�Q���E�R�G�\���q���D�Q�G���p�V�K�R�U�W�����V�W�R�X�W���D�U�P�V�q���W�K�D�W���p�P�D�G�H���L�W���O�R�R�N���D���E�L�W
like T. rex���q��C. diegosaurezi�����K�R�Z�H�Y�H�U�����K�D�G���R�W�K�H�U���I�H�D�W�X�U�H�V���W�K�D�W���O�L�Q�N�H�G���L�W���W�R���K�H�U�E�L�Y�R�U�H�V��
�&�K�R�L�F�H�V���$���D�Q�G���%���D�U�H���L�Q�F�R�U�U�H�F�W���E�H�F�D�X�V�H���W�K�H�U�H���L�V���Q�R���H�Y�L�G�H�Q�F�H���L�Q���W�K�H���S�D�V�V�D�J�H���W�K�D�W���W�K�H
�D�X�W�K�R�U���W�K�L�Q�N�V��C. diegosuarezi
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14. �&�K�R�L�F�H���$���L�V���W�K�H���E�H�V�W���D�Q�V�Z�H�U�����7�K�H���P�D�L�Q���I�R�F�X�V���R�I���W�K�H���S�D�V�V�D�J�H���L�V���R�Q���W�K�H���Y�D�U�L�H�W�\���R�I���W�K�H
�U�H�V�S�R�Q�V�L�E�L�O�L�W�L�H�V���R�I���D���F�R�Q�V�W�U�X�F�W�L�R�Q���P�D�Q�D�J�H�U�����Z�K�R���P�X�V�W���p�O�H�D�U�Q���D���F�R�Q�V�W�U�X�F�W�L�R�Q���S�U�R�M�H�F�W
�I�U�R�P���W�K�H���S�O�D�Q�Q�L�Q�J���V�W�D�J�H���������������W�R���W�K�H���E�X�G�J�H�W�L�Q�J���V�W�D�J�H���������������W�R���W�K�H���S�U�R�G�X�F�W�L�R�Q���V�W�D�J�H�q���D�Q�G
�P�X�V�W���p�R�E�W�D�L�Q���Z�R�U�N���S�H�U�P�L�W�V�����K�L�U�H���F�R�Q�W�U�D�F�W�R�U�V�����W�U�R�X�E�O�H�V�K�R�R�W���H�P�H�U�J�H�Q�F�L�H�V�����V�F�K�H�G�X�O�H
�Z�D�O�N�W�K�U�R�X�J�K�V���D�Q�G���N�H�H�S���F�O�L�H�Q�W�V���L�Q�I�R�U�P�H�G���R�Q���Z�R�U�N���W�L�P�H�W�D�E�O�H�V���D�Q�G���S�U�R�J�U�H�V�V���q���&�K�R�L�F�H�V
�%���D�Q�G���'���D�U�H���L�Q�F�R�U�U�H�F�W���E�H�F�D�X�V�H���W�K�H�U�H���L�V���Q�R���L�Q�I�R�U�P�D�W�L�R�Q���L�Q���W�K�H���S�D�V�V�D�J�H���D�E�R�X�W���W�K�H
�H�G�X�F�D�W�L�R�Q�D�O���E�D�F�N�J�U�R�X�Q�G���U�H�T�X�L�U�H�G���R�I���D���F�R�Q�V�W�U�X�F�W�L�R�Q���P�D�Q�D�J�H�U���R�U���D�E�R�X�W���W�K�H���D�P�R�X�Q�W���R�I
�V�W�U�H�V�V���W�K�H���F�R�Q�V�W�U�X�F�W�L�R�Q���P�D�Q�D�J�H�U���F�D�U�H�H�U���L�Q�°�L�F�W�V�����&�K�R�L�F�H���&���L�V���L�Q�F�R�U�U�H�F�W���E�H�F�D�X�V�H���W�K�H�U�H
�L�V���Q�R���L�Q�I�R�U�P�D�W�L�R�Q���L�Q���W�K�H���S�D�V�V�D�J�H���D�E�R�X�W���W�K�H���N�L�Q�G���R�I���S�H�U�V�R�Q���I�R�U���Z�K�R�P���D���F�R�Q�V�W�U�X�F�W�L�R�Q
�P�D�Q�D�J�H�U���F�D�U�H�H�U���Z�R�X�O�G���E�H���V�X�L�W�D�E�O�H���E�H�\�R�Q�G���W�K�H���E�U�R�D�G���F�O�D�L�P���W�K�D�W���L�W���L�V���p�L�G�H�D�O���I�R�U���V�R�P�H�R�Q�H
�Z�K�R���K�D�V���D���J�H�Q�H�U�D�O���L�Q�W�H�U�H�V�W���L�Q���E�X�L�O�G�L�Q�J���D���G�H�V�L�J�Q���q 

15. �&�K�R�L�F�H���$���L�V���W�K�H���E�H�V�W���D�Q�V�Z�H�U�����7�K�H���D�X�W�K�R�U���D�V�V�H�U�W�V���W�K�D�W��The Pickwick Papers���p�W�U�X�O�\
�S�R�S�X�O�D�U�L�]�H�G�q���W�K�H���I�R�U�P���R�I���W�K�H���V�H�U�L�D�O�L�]�H�G���Q�R�Y�H�O�����Q�R�W�L�Q�J���W�K�D�W���W�K�H���®�U�V�W���L�Q�V�W�D�O�O�P�H�Q�W���K�D�G���D
�S�U�L�Q�W���R�U�G�H�U���R�I���������������F�R�S�L�H�V���D�Q�G���W�K�D�W���F�L�U�F�X�O�D�W�L�R�Q���K�D�G���F�O�L�P�E�H�G���W�R�����������������p�E�\���W�K�H���W�L�P�H���W�K�H
�®�Q�D�O���H�Q�W�U�\���Z�D�V���S�X�E�O�L�V�K�H�G���q���&�K�R�L�F�H���%���L�V���L�Q�F�R�U�U�H�F�W���E�H�F�D�X�V�H���W�K�H���S�D�V�V�D�J�H���L�Q�G�L�F�D�W�H�V���W�K�D�W
�X�Q�U�H�V�R�O�Y�H�G���S�O�R�W�V���D�Q�G���H�O�O�L�S�W�L�F�D�O���V�H�F�W�L�R�Q���E�U�H�D�N�V���Z�H�U�H���P�H�U�H�O�\���I�H�D�W�X�U�H�V���R�I���V�H�U�L�D�O�L�]�H�G���Q�R�Y�H�O�V��
�R�Q�H�V���W�K�D�W���K�H�O�S�H�G���S�U�R�P�R�W�H���V�H�U�L�D�O�L�]�D�W�L�R�Q�o�V���V�X�F�F�H�V�V���E�X�W���Z�H�U�H���Q�R�W���W�K�H�P�V�H�O�Y�H�V���H�Y�L�G�H�Q�F�H���R�I
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Sample Questions 
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The College Board 
�7�K�H���&�R�O�O�H�J�H���%�R�D�U�G���L�V���D���P�L�V�V�L�R�Q���G�U�L�Y�H�Q���Q�R�W���I�R�U���S�U�R�®�W���R�U�J�D�Q�L�]�D�W�L�R�Q���W�K�D�W���F�R�Q�Q�H�F�W�V���V�W�X�G�H�Q�W�V
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13. A machine is currently set to a feed rate of 5.921 inches
per minute �IPM�. �e machinist changes this setting to
6.088 IPM. By how much did the machinist increase the
feed rate?

19. Which of the following inequalities is true?

3 5A. <4 7
2 5B. >3 6 
5 6C. > 8 10 
4 2D. <5 9 

A. 0.167 IPM 
B. 1.167 IPM 
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Rationales 
1. Choice D is correct. �7�K�H���Q�X�P�E�H�U��0��06���L�V���W�K�H���V�D�P�H���D�V���V�L�[���K�X�Q�G�U�H�G�W�K�V�����Z�K�L�F�K���Z�K�H�Q

6
100�Z�U�L�W�W�H�Q���D�V���D���I�U�D�F�W�L�R�Q���L�V�������&�K�R�L�F�H���$���L�V���L�Q�F�R�U�U�H�F�W���E�H�F�D�X�V�H��1

6
 ���L�V���H�T�X�L�Y�D�O�H�Q�W���W�R _

�R�Q�H���V�L�[�W�K�����R�U��0 166�� �����&�K�R�L�F�H���%���L�V���L�Q�F�R�U�U�H�F�W���E�H�F�D�X�V�H��1 
60 ���L�V���H�T�X�L�Y�D�O�H�Q�W���W�R���R�Q�H���V�L�[�W�L�H�W�K�����R�U

_
0.0166�����&�K�R�L�F�H���&���L�V���L�Q�F�R�U�U�H�F�W���E�H�F�D�X�V�H��6 

10 ���L�V���H�T�X�L�Y�D�O�H�Q�W���W�R���V�L�[���W�H�Q�W�K�V�����R�U��0��6��

2. Choic e D is correct.���7�R���®�Q�G���W�K�H���W�R�W�D�O���Q�X�P�E�H�U���R�I���L�W�H�P�V�����P�X�O�W�L�S�O�\���W�K�H���W�R�W�D�O���Q�X�P�E�H�U
�R�I���P�H�P�E�H�U�V���E�\���W�K�H���Q�X�P�E�H�U���R�I���L�W�H�P�V���H�D�F�K���P�H�P�E�H�U���Z�L�O�O���G�R�Q�D�W�H�����7�K�L�V���L�V���U�H�S�U�H�V�H�Q�W�H�G
�E�\ 36 �� 12 �� 432�����&�K�R�L�F�H���$���L�V���L�Q�F�R�U�U�H�F�W���E�H�F�D�X�V�H���W�K�L�V���U�H�V�X�O�W�V���I�U�R�P���D�G�G�L�Q�J���L�Q�V�W�H�D�G���R�I
�P�X�O�W�L�S�O�\�L�Q�J�����&�K�R�L�F�H���%���L�V���L�Q�F�R�U�U�H�F�W���E�H�F�D�X�V�H���D���P�X�O�W�L�S�O�L�F�D�W�L�R�Q���H�U�U�R�U���Z�D�V���P�D�G�H�����7�K�L�V
�U�H�V�X�O�W�V���I�U�R�P���Q�R�W���X�V�L�Q�J���D���S�O�D�F�H�K�R�O�G�H�U���]�H�U�R���R�U���Z�U�L�W�L�Q�J���W�K�H���Q�X�P�E�H�U�V���V�W�D�U�W�L�Q�J���L�Q���W�K�H
�W�H�Q�V���S�O�D�F�H���Z�K�H�Q���P�X�O�W�L�S�O�\�L�Q�J���W�K�H���V�H�F�R�Q�G���G�L�J�L�W�����&�K�R�L�F�H�{�&���L�V���L�Q�F�R�U�U�H�F�W���E�H�F�D�X�V�H���D
�P�X�O�W�L�S�O�L�F�D�W�L�R�Q���H�U�U�R�U���Z�D�V���P�D�G�H�����7�K�L�V���U�H�V�X�O�W�V���I�U�R�P���P�D�N�L�Q�J���D�Q���H�U�U�R�U���Z�K�H�Q���F�D�U�U�\�L�Q�J���I�U�R�P
�W�K�H���R�Q�H�V���G�L�J�L�W���W�R���W�K�H���W�H�Q�V���G�L�J�L�W��

4 3 + 10 100
40 3+ 
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6
1019. Choice C is correct.���7�K�H���I�U�D�F�W�L�R�Q��5

8
  is greater than �����:�K�H�Q���X�V�L�Q�J���D���F�R�P�P�R�Q 

�G�H�Q�R�P�L�Q�D�W�R�U�����W�K�L�V���V�W�D�W�H�P�H�Q�W���L�V���H�T�X�L�Y�D�O�H�Q�W���W�R��25  �� 24
40 40

�����:�K�H�Q���W�Z�R���I�U�D�F�W�L�R�Q�V���K�D�Y�H

�F�R�P�P�R�Q���G�H�Q�R�P�L�Q�D�W�R�U�V�����W�K�H���I�U�D�F�W�L�R�Q���Z�L�W�K���W�K�H���O�D�U�J�H�U���Q�X�P�H�U�D�W�R�U���L�V���W�K�H���O�D�U�J�H�U���Q�X�P�E�H�U��

�&�K�R�L�F�H���$���L�V���L�Q�F�R�U�U�H�F�W���E�H�F�D�X�V�H��3 
4 is not less than 5

7
 �����6�K�R�Z�Q���Z�U�L�W�W�H�Q���Z�L�W�K���D���F�R�P�P�R�Q 

�G�H�Q�R�P�L�Q�D�W�R�U�����W�K�H���F�R�P�S�D�U�L�V�R�Q��21 20
28  �� 28

 ���L�V���Q�R�W���W�U�X�H�����&�K�R�L�F�H���%���L�V���L�Q�F�R�U�U�H�F�W���E�H�F�D�X�V�H

2
3 is not greater than 5 

6 �����6�K�R�Z�Q���Z�U�L�W�W�H�Q���Z�L�W�K���D���F�R�P�P�R�Q���G�H�Q�R�P�L�Q�D�W�R�U�����W�K�H��

�F�R�P�S�D�U�L�V�R�Q4 5��   �6  6 ���L�V���Q�R�W���W�U�X�H�����&�K�R�L�F�H���'���L�V���L�Q�F�R�U�U�H�F�W���E�H�F�D�X�V�H��4 
5 is not less than 2 

9 ��

 �6�K�R�Z�Q���Z�U�L�W�W�H�Q���Z�L�W�K���D���F�R�P�P�R�Q���G�H�Q�R�P�L�Q�D�W�R�U�����W�K�H���F�R�P�S�D�U�L�V�R�Q36 10��  
45  �� 45 ���L�V���Q�R�W���W�U�X�H��

20. Choice B is correct.���&�D�U�R�O�H���Z�R�U�N�H�G��1
4  of the 28���G�D�\�V���D�W���W�K�H���E�R�R�N�V�W�R�U�H�����V�R���V�K�H���Z�R�U�N�H�G

7���G�D�\�V���D�W���W�K�H���E�R�R�N�V�W�R�U�H�����6�K�H���G�L�G���Q�R�W���Z�R�U�N���R�Q��1 
14���R�I���W�K�H���G�D�\�V�����Z�K�L�F�K���H�T�X�D�O�V

2���G�D�\�V���  
128  ��  
14 � �����6�X�E�W�U�D�F�W�L�Q�J���W�K�H�V�H���D�P�R�X�Q�W�V���I�U�R�P��28���J�L�Y�H�V���W�K�H���Q�X�P�E�H�U���R�I���G�D�\�V���V�K�H

�Z�R�U�N�H�G���D�W���W�K�H���U�H�V�W�D�X�U�D�Q�W���28 �� 7 �� 2 �� 19� �����&�K�R�L�F�H���$���L�V���L�Q�F�R�U�U�H�F�W���D�Q�G���P�D�\���E�H���W�K�H���U�H�V�X�O�W
1
14

2
18

1
4�R�I���H�U�U�R�Q�H�R�X�V�O�\���D�G�G�L�Q�J��and �D�Q�G���®�Q�G�L�Q�J�����D�V���W�K�H���G�D�\�V���Q�R�W���Z�R�U�N�H�G���D�W���W�K�H

�U�H�V�W�D�X�U�D�Q�W����228  �  �28  ��  �18  �� 25�����&�K�R�L�F�H���&���L�V���L�Q�F�R�U�U�H�F�W���D�Q�G���P�D�\���E�H���W�K�H���U�H�V�X�O�W���R�I���D�G�G�L�Q�J

�W�K�H���G�H�Q�R�P�L�Q�D�W�R�U�V���R�I���W�K�H���I�U�D�F�W�L�R�Q�V���14 �� 4� ���D�Q�G���X�V�L�Q�J���W�K�L�V���D�V���W�K�H���Q�X�P�E�H�U���R�I���G�D�\�V���&�D�U�R�O�H
�G�L�G���Q�R�W���Z�R�U�N���D�W���W�K�H���U�H�V�W�D�X�U�D�Q�W����28 �� 18 �� 10�����&�K�R�L�F�H���'���L�V���L�Q�F�R�U�U�H�F�W���E�H�F�D�X�V�H���L�W���L�V���W�K�H
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Reasoning, 
Algebra, and 
Statistics 
Sample Questions 
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The College Board 
�7�K�H���&�R�O�O�H�J�H���%�R�D�U�G���L�V���D���P�L�V�V�L�R�Q���G�U�L�Y�H�Q���Q�R�W���I�R�U���S�U�R�®�W���R�U�J�D�Q�L�]�D�W�L�R�Q���W�K�D�W���F�R�Q�Q�H�F�W�V���V�W�X�G�H�Q�W�V
�W�R���F�R�O�O�H�J�H���V�X�F�F�H�V�V���D�Q�G���R�S�S�R�U�W�X�Q�L�W�\�����)�R�X�Q�G�H�G���L�Q���������������W�K�H���&�R�O�O�H�J�H���%�R�D�U�G���Z�D�V���F�U�H�D�W�H�G���W�R
�H�[�S�D�Q�G���D�F�F�H�V�V���W�R���K�L�J�K�H�U���H�G�X�F�D�W�L�R�Q�����7�R�G�D�\�����W�K�H���P�H�P�E�H�U�V�K�L�S���D�V�V�R�F�L�D�W�L�R�Q���L�V���P�D�G�H���X�S���R�I
�R�Y�H�U���������������R�I���W�K�H���Z�R�U�O�G�o�V���O�H�D�G�L�Q�J���H�G�X�F�D�W�L�R�Q���L�Q�V�W�L�W�X�W�L�R�Q�V���D�Q�G���L�V���G�H�G�L�F�D�W�H�G���W�R���S�U�R�P�R�W�L�Q�J
�H�[�F�H�O�O�H�Q�F�H���D�Q�G���H�T�X�L�W�\���L�Q���H�G�X�F�D�W�L�R�Q�����(�D�F�K���\�H�D�U�����W�K�H���&�R�O�O�H�J�H���%�R�D�U�G���K�H�O�S�V���P�R�U�H���W�K�D�Q
�V�H�Y�H�Q���P�L�O�O�L�R�Q���V�W�X�G�H�Q�W�V���S�U�H�S�D�U�H���I�R�U���D���V�X�F�F�H�V�V�I�X�O���W�U�D�Q�V�L�W�L�R�Q���W�R���F�R�O�O�H�J�H���W�K�U�R�X�J�K���S�U�R�J�U�D�P�V
�D�Q�G���V�H�U�Y�L�F�H�V���L�Q���F�R�O�O�H�J�H���U�H�D�G�L�Q�H�V�V���D�Q�G���F�R�O�O�H�J�H���V�X�F�F�H�V�V���t���L�Q�F�O�X�G�L�Q�J���W�K�H���6�$�7�‹���D�Q�G���W�K�H
�$�G�Y�D�Q�F�H�G���3�O�D�F�H�P�H�Q�W���3�U�R�J�U�D�P�‹�����7�K�H���R�U�J�D�Q�L�]�D�W�L�R�Q���D�O�V�R���V�H�U�Y�H�V���W�K�H���H�G�X�F�D�W�L�R�Q���F�R�P�P�X�Q�L�W�\
�W�K�U�R�X�J�K���U�H�V�H�D�U�F�K���D�Q�G���D�G�Y�R�F�D�F�\���R�Q���E�H�K�D�O�I���R�I���V�W�X�G�H�Q�W�V�����H�G�X�F�D�W�R�U�V�����D�Q�G���V�F�K�R�R�O�V 

�)�R�U���I�X�U�W�K�H�U���L�Q�I�R�U�P�D�W�L�R�Q�����Y�L�V�L�W��collegeboard.org�� 

ACCUPLACER Quantitative Reasoning, 
Algebra, and Statistics Sample Questions 
The Next- G�H�Q�H�U�D�W�L�R�Q���4�X�D�Q�W�L�W�D�W�L�Y�H���5�H�D�V�R�Q�L�Q�J�����$�O�J�H�E�U�D�����D�Q�G���6�W�D�W�L�V�W�L�F�V���S�O�D�F�H�P�H�Q�W���W�H�V�W���L�V���D
�F�R�P�S�X�W�H�U���D�G�D�S�W�L�Y�H���D�V�V�H�V�V�P�H�Q�W���R�I���W�H�V�W���W�D�N�H�U�V�o���D�E�L�O�L�W�\���I�R�U���V�H�O�H�F�W�H�G���P�D�W�K�H�P�D�W�L�F�V���F�R�Q�W�H�Q�W��
�4�X�H�V�W�L�R�Q�V���Z�L�O�O���I�R�F�X�V���R�Q���D���U�D�Q�J�H���R�I���W�R�S�L�F�V���L�Q�F�O�X�G�L�Q�J���F�R�P�S�X�W�L�Q�J���Z�L�W�K���U�D�W�L�R�Q�D�O���Q�X�P�E�H�U�V��
�D�S�S�O�\�L�Q�J���U�D�W�L�R�V���D�Q�G���S�U�R�S�R�U�W�L�R�Q�D�O���U�H�D�V�R�Q�L�Q�J�����F�U�H�D�W�L�Q�J���O�L�Q�H�D�U���H�[�S�U�H�V�V�L�R�Q�V���D�Q�G���H�T�X�D�W�L�R�Q�V��
�J�U�D�S�K�L�Q�J���D�Q�G���D�S�S�O�\�L�Q�J���O�L�Q�H�D�U���H�T�X�D�W�L�R�Q�V�����X�Q�G�H�U�V�W�D�Q�G�L�Q�J���S�U�R�E�D�E�L�O�L�W�\���D�Q�G���V�H�W���Q�R�W�D�W�L�R�Q�����D�Q�G
�L�Q�W�H�U�S�U�H�W�L�Q�J���J�U�D�S�K�L�F�D�O���G�L�V�S�O�D�\�V�����,�Q���D�G�G�L�W�L�R�Q�����T�X�H�V�W�L�R�Q�V���P�D�\���D�V�V�H�V�V���D���V�W�X�G�H�Q�W�o�V���P�D�W�K���D�E�L�O�L�W�\
�Y�L�D���F�R�P�S�X�W�D�W�L�R�Q�D�O���R�U���°�X�H�Q�F�\���V�N�L�O�O�V�����F�R�Q�F�H�S�W�X�D�O���X�Q�G�H�U�V�W�D�Q�G�L�Q�J�����R�U���W�K�H���F�D�S�D�F�L�W�\���W�R���D�S�S�O�\
�P�D�W�K�H�P�D�W�L�F�V���S�U�H�V�H�Q�W�H�G���L�Q���D���F�R�Q�W�H�[�W�����$�O�O���T�X�H�V�W�L�R�Q�V���D�U�H���P�X�O�W�L�S�O�H���F�K�R�L�F�H���L�Q���I�R�U�P�D�W���D�Q�G
�D�S�S�H�D�U���G�L�V�F�U�H�W�H�O�\�����V�W�D�Q�G���D�O�R�Q�H�����D�F�U�R�V�V���W�K�H���D�V�V�H�V�V�P�H�Q�W�����7�K�H���I�R�O�O�R�Z�L�Q�J���N�Q�R�Z�O�H�G�J�H���D�Q�G���V�N�L�O�O
�F�D�W�H�J�R�U�L�H�V���D�U�H���D�V�V�H�V�V�H�G�� 

�ƒ�� �5�D�W�L�R�Q�D�O���Q�X�P�E�H�U�V 
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17. �e elevation at the summit of Mount Whitney is
4,418 meters above sea level. Climbers begin at a
trailhead that has an elevation of 2,550 meters above
sea level. What is the change in elevation, to the nearest
foot
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Answer Key 
1. D

2. C

3. D

4. �$

5. �$

6. D

7. C

8. B

9. B

10. �$

11. C

12. �$

13. D

14. C

15. B

16. C

17. C

18. B

19. B

20. D
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7. Choice C is correct.
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15. Choice B is correct. The expression 
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17. �e elevation at the summit of Mount Whitney is
4,418 meters above sea level. Climbers begin at a
trailhead that has an elevation of 2,550 meters above
sea level. What is the change in elevation, to the nearest
foot
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Answer Key 
1. D

2. C

3. D

4. �$

5. �$

6. D

7. C

8. B

9. B

10. �$

11. C

12. �$

13. D

14. C

15. B

16. C

17. C

18. B

19. B

20. D
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7. Choice C is correct.




